¢ HYDROSILA

HYDRAULIC CYLINDERS
rmaPoUUIIMHAPDI

piston and plunger
NopLUHEBbIE N NJIYHXXepPHble

m
<
D
S
<
o







COOEPXAHUE
CONTENTS

O6Owwne cBegeHus
Features

UHdopmauma ana 3akasa. MopwHeBbie rugpouunuuapbl cepun MC
Ordering information. Piston cylinders MC series ordering code

WHndopmaumnsa ana 3akasa. MnyHxepHble ruapoumnungpbl cepun MPC
Ordering information. Plunger cylinders MCP series ordering code

KoHCTpPYKTMBHbIE MCNOMHEHUA TMAPOLUNUHAPOB NO CNocoby KpenneHus
Mount types

KoHcTpyKTMBHOE UCNONHEHWEe FTMAPOLMIMHAPOB NO noaBoAy paboyen KUAKOCTH
Port types

KoHcTpyKUuMM nepeaHUX Kpblwek
Head-bushes types

HoMeHKnaTypHbIW pAA NOPLWHEBbLIX TMAPOLUIUHAPOB
Double acting piston cylinders

HoMeHKnaTypHbIW pAA NNYHXEPHbIX TMAPOLUNNHAPOB
Single acting plunger cylinders

Kpblwku 3agHue
End plugs

KpenexHble 3feMeHThbl
Ends

MoaBoabl pabouen XuaKocTu
Port types

CneunanbHble TMAPOLUUNMHAPLI U aKceccyapbl
Special hydraulic cylinders and accessories

YKasaHua no akcnnyarauum
Terms of use

lapaHTUiHbIE 06A3aTenbCcTBa 06A3aTenbCTBa
Warranty terms

= = o S w N
R o fco)

[N

N

w

w
1

w

S

w
(8]

| & worosia



OBLUWE CBEOEHUSA
FEATURES

lpynna npegnpusTuii «fugpocunay SBASETCS OJHUM W3 KPYMHEWLWMX NPOW3BOAWTENEN MMAPABMMYECKNX CUMOBBIX MALUMH M KOMMOHEHTOB
rngpocucTemM MobunbHbIX MaLlmH B BocTouHomn EBpone.

Ha npon3BoaCTBEHHbIX MPEANPUSTHSX FPYNMNbI IPOM3BOASATCS HACOCHI LIECTEPEHHDIE, aKCMaNbHO-MOPLUHEBbIE MALUUHbI, TMAPOpacNpesenuTeny,
TMAPOLMIMHAPSI, PyKaBa BbICOKOTO AABMEHNS, (DUTHHT.

Ha cerogHsLLIHNA feHb BbINYCKAKTCS TMAPOLMIMHAPbI PA3NMYHbIX MOAUGMKALMA 1 TUMOPa3MEPOB:

* [NopLuHeBble - C AMamMeTpoM nopLuHs oT 25 go 160 mm; anameTtpom wroka ot 16 4o 100 mm 1 xogom nopiuHs go 2000 mm;

* [nyHxepHble - ¢ aMameTpoM nnyHxepa ot 25 4o 80 MM 1 xogom nnyHxepa 4o 1000 mw;

+ CneyyanbHble, MPUMEHSIEMbIE HA CENMbCKOX03AICTBEHHbIX, CTPOUTENBHO-LOPOKHBIX, KOMMYHABHbIX 1 APYrUX MaLLMHax 1 06opygoBaHum.

MVapoLMNUHAPbI paccumTaHbl Ans paboTsl B rugpocuctemax ¢ aasnennem go 300 6ap.

KoppoanoHHas CTOWKOCTb MCMOMb3yeMblxX LUTOKOB B cooTBeTCTBUM C ISO 9227:2006 (B coneBom TymaHe) He meHee 200 yacos (NSS). o
creynansHOMy 3akasy LUTOKa MOTYT WM3roTaBnMBaTbCs M3 3aKaneHHOro XpoMupoBaHHOro npyTka C45E ¢ yBennyeHHO! TOMLWMHOA XPOMOBOIO
MOKPbITIS, C KOPPO3WOHHOM cToMKoCTbI0 500 yacos (NSS).

B KOHCTpYKLMSIX TMAPOLMIMHAPOB MPUMEHSIIOTCS YNNOTHUTENbHBIE SNEMEHTBI BEAYLLMX npovBoauTenen Kastas, Parker n gpyrue.

Ha npeanpustum ncnonb3yetcs obopynosaHue nponssoguteneit HAAS, DOOSAN, GOODWAY, CONTARINI, EVERISING, BvL u gp.

[ns BbISBNEHNS AeEKTOB CBAPOYHBIX LLIBOB KOPMyca rMAPOLMIMHAPOB MPOBEPSIOTCS HA FEPMETUYHOCTb FeNIeM Ha CrieLanbHOM CTEHAE.

Kaxablin ruapoumunmHap NpoXoauT NPUeMO-CAATOYHbIE UCTbITAHUS Ha CTEHAAX 3aBOAA-N3rOTOBUTENS.

Paboune XnakocTy - MuHeparnbHble Macna ¢ kKuHeMatudeckon BsiskocTbio 20-2000 ¢/Cr.

CucTeMa MeHeKMEHTa KadecTBa cepTudMLmMpoBaHa Ha cooteeTcTame ctaHgapty 1SO 9001:2008.

HYDROSILA GROUP is the leading manufacturer of fluid power units and components for mobile hydraulic systems in Eastern Europe.
The group’s product range includes gear pumps, axial piston units, directional control valves, hydraulic cylinders, hoses and fitting.
Today are manufactured hydraulic cylinders of different variants and standard sizes:

* Piston - piston diameter up 25 to 160 mm, rod diameter up 16 to 100 mm and piston stroke up to 2000 mm;

* Plunger - plunger diameter up 25 to 80 mm and plunger stroke up to 1000 mm;

« Special, applied for agricultural, road-building, public machines and equipment.

Corrosion resistance of the used rods in accordance with ISO 9227: 2006 (salt spray) is not less than 200 hours (NSS). On special request rod

can be made of tempered chrome bar S45E with an increased thickness of the chromium coating with corrosion resistance 500 hours (NSS).

Hydraulic cylinders are designed for use in hydraulic systems with pressure up to 300 bar.

For cylinders are used seals by leading manufacturers, such as Kastas, Parker and others.

The company used equipment manufacturers HAAS, DOOSAN, GOODWAY, CONTARINI, EVERISING, BvL and others.
To ensure the quality of the welds, cylinders are checked for leaks at helium test bench.

Each cylinder is tested at test desk.

As working fluid can be used mineral oils with cinematic viscosity 20-2000 s/St.

Quality management system is certified to ISO 9001:2008 standards.

@ nopucan



WHOOPMALIUA ON1A 3AKA3A
ORDERING INFORMATION

MopLHeBkIe rnapouunuHapsl cepun MC
Piston cylinders MC series ordering code

MC X/ X X X - X. XXXX. XXXX. X-XX. X (X)

Cepws NopLUHEBbIX MMAPOLMINHAPOB
Double acting piston cylinders series

[nameTp umnuHapa (D), Mm
Bore diameter (D), mm

[Ouawmetp wroka (d), Mm
Rod diameter (d), mm

Xopn nopLwHs (S), Mm
Piston stroke (S), mm

HomuHanbHoe gaBneHune, MlMa
Rated pressure, MPa

KpenexHble anemMeHTbl Ha rurb3e 1 Ha LIToKe
Tube and rod fixing

Tun 1 pacnomnoxeHe NOABOLOB CO CTOPOHbI 3a[1HEN KPbILLKW W CO CTOPOHBI LUTOKA
Bottom and piston rod oil inlets

MexueHTpoBoe paccTosHue (L), Mm
Center distance (L), mm

BapwuaHT nocTaBku ruapouuniHapa
(KnMmaTM4YeCKoe UCNOMHEHNE, NakoKpacouHoe
MoKpbITHE, APYriie NapameTpbl)

Supply variant

(climatic version, painting, special features)

lMpon3BoACTBEHHAS NIoLLaka
Production site

KoHCTpyKTUBHOE UCTOMHEHWE TMAPOLNNMHApA:
A - Hanmume MexaHN4eckoro

OrpaHUYMTENS XOLa NNYHXEPa;

C - ¢ 3amMennuTENbHBIM KnanaHow;

R - KpbllLka nepeaHss Ha pesbbe;

N - KpbllKa NepeaHsIsi C HaKUaHO rankom;

F - cbnaHueBoe kpenneHme KpbILLKK NepeaHen;
D - Hannure aemnepHoro yCTporcTaa.
[pyrvie ononHUTeNbHbIE NapameTpbl

Design variant;

A - mechanical plunger stroke limiter;

C - with slow-down valve;

R - threaded head-bush;

N - head-bush with locking nut;

F - flange mounted head-bush;

D - with damper device.

Other special features

I'Ipumeqal-me: }J,onyCKaech B BuMAE WCKITOYEHUA NpucBamBaTtb runapouuMnnHgpamM cneuunanbHble 0003HaueHNs, KOTOpble HE COOTBETCTBYHOT

NPUBEAEHHON CTPYKTYpE.
Note: Some cylinders may have specific codes differing from the above model code.

| & worosia



WHOOPMALIUA ANA 3AKA3A
ORDERING INFORMATION

MnyHxepHbie rmgpoumnuHapsi cepun MPC
Plunger cylinders MCP series ordering code

MCP X x X - X. XXXX. XXXX. X. XX. X (X)

Cepusi NNyHXepHbIX TMAPOLMIMHAPOB
Plunger cylinders series

[Ouametp nnyHxepa (d), Mm
Plunger diameter (d), mm

Xop nnyxxepa (S), MM
Plunger stroke (S), mm

HomuHanbHoe naBneHue, Mla
Rated pressure, MPa

KpenexHble aneMeHTbl Ha rurb3e 1 Ha LUToke
Tube and rod fixing

Tun v pacnonoxeHue NoABOAOB CO CTOPOHbI 3aJHEN KPbILLKM M CO CTOPOHbI LUTOKA
Bottom and piston rod oil inlets

MexueHTpoBoe paccTosHue (L), Mm
Center distance (L), mm

BapuaHT nocTasku rapoLunuHapa
(KMMMaTMYeCKoe NCMOMHeHNe, NakoKpacoyHoe
MoKpbITUe, Apyrve napameTphbl)

Supply variant

(climatic version, painting, special features)

[Mpon3BOACTBEHHAS NroLaaka
Production site

KOHCTPYKTUBHOE MCMOMHEHNE TMAPOLMINHAPA:
A - Hannyre MexaHN4ecKoro

OrpaHNumMTENs X04a NNyHxXepa;

C - ¢ 3amMeannTenbHbIM KnanaHoM;

R - kpblwwka nepeaHss Ha pessbe;

N - KpblLLKa NepeaHss ¢ HaKNOHOM rankon;

F - donaHueBoe KkpenneHme Kpbilkv nepeaHe;
D - Harm4ure AemMneepHOro yCTponcTea.
[pyre gononHuTENbHbIE NapameTpbI

Design variant:

A - mechanical plunger stroke limiter;

C - with slow-down valve;

R - threaded head-bush;

N - head-bush with locking nut;

F - flange mounted head-bush;

D - with damper device.

Other special features

I'IpumeanMe: ﬂOI'IyCKaeTCFI B BMAE WCKITOYEHUA NpucBamBaTtb ruapoumMnnuHgpamM cneunanbHble 00603HaueHN, KOTOpble HE COOTBETCTBYHOT

MPUBEAEHHON CTPYKTYpE.
Note: Some cylinders may have specific codes differing from the above model code.

@ nopucan



KOHCTPYKTUBHbIE UCMONHEHUA TNMOPOLIUIMUHAPOB MO CMOCOBY KPEMMEHUA

MOUNT TYPES

Kpbiluka 3agHsis ¢ noaeogom paboyeit KpblLLka 3aaHsis [MpoyLUMHa C LWapHUPHBIM MOALWMITHUKOM
XNIOKOCTH End plug Ball-joint end

End plug with inlet port

Kog 3aka3a / Ordering code - 0A Kog 3aka3sa / Ordering code - 0B Kog 3aka3a / Ordering code - 1A
Cepbra C LUapHUPHbIM MOALLMITHUKOM MpoyLmHa [MpoyLIMHA C LWapHUPHLIM MOALLMMIHUKOM
End with ball-joint Bush Ball-joint end

AN
QN |
Kop 3aka3sa / Ordering code - 1B Kog 3aka3sa / Ordering code - 1C Kop 3aka3sa / Ordering code - 1D
KpbiLuka 3aAHsS C CEPbIo C LApPHUPHBIM Kpbiluka 3aaHSIS € LAPHUPHBIM [MpoyLumHa € WapHUPHbLIM MOALUMTHAKOM
MOALIUMHAKOM MOALLMMHYKOM ¥ NOABOAOM pabouen Ball-joint end
End plug with ball-joint end X1AKOCTH

"
&A}VL

Kop 3aka3sa / Ordering code - 1G Kog 3aka3sa / Ordering code - 1H Kog 3aka3sa / Ordering code - 1M

| & worosia



KOHCTPYKTUBHbIE UCMONHEHUA TMOPOLUITUHAPOB MO CMOCOBY KPEMMEHUA

MOUNT TYPES

[poyLLMHa C LWapHMUPHBIM MOALIMMHUKOM [MpoyLwmHa (6e3 macneHku) [MpoyLwmHa (c MacneHkon)
Ball-joint end Bush (without grease nipple) Bush (with grease nipple)

) B
N N
Kop 3aka3a / Ordering code - 1N Kop 3akasa / Ordering code - 2A Kop 3aka3a / Ordering code - 2B
[poywumHa Cepbra KpblLka 3agHsis ¢ 0TBEPCTMEM
Bush Male clevis End plug with hole

7mmy! |

Kog 3aka3sa / Ordering code - 2C Kog 3aka3sa / Ordering code - 2D Kog 3akasa / Ordering code - 2F
KpbiLuka 3afHsS € cepbrot KpbiLuka 3agHsist ¢ Cepbrov 1 noABoAoM MpoyLmHa
End plug with male clevis paboyei XuaKkocTu Bush

End plug with male clevis and inlet port

WW\

R 2D

Gl |
N2 —
é |
Kog 3aka3sa / Ordering code - 2H Kog 3aka3sa / Ordering code - 2J Kopg 3aka3a / Ordering code - 2K

e



KOHCTPYKTUBHbIE UCMONHEHUA TNMOPOLUITUHAPOB MO CMNOCOBY KPEMMEHUA

MOUNT TYPES

Llandb!

Trunnion

Kop 3akasa / Ordering code - 3C

Bunka cBapHas
Weldable clevis

<IN
7/
Y SSNEEN

| N

Kog 3aka3sa / Ordering code - 4D

LUtok ¢ Hapy»HoM pe3bbol
Threaded rod end

i

Kopg 3aka3a / Ordering code - 5A

Bunka npueapHas
(koBaHHas unn pesepoBaHHas)
Weldable clevis (forged or milled)

Fills

Kop 3aka3a / Ordering code - 4A

KpblLLKka 3a0HsIs C BUNKOM
(koBaHHas unn pe3epoBaHHas)
End plug with clevis (forged or milled)

—
i

(b
iz

Kog 3aka3sa / Ordering code - 4E

LLITok ¢ BHYTpEHHEN pe3bboit
Threaded rod end

Z.

Kog 3aka3sa / Ordering code - 6A

Bunika ¢ pesbboit
(koBaHHas unu pe3epoBaHHas)
Threaded clevis (forged or milled)

A
7 | ]

Zz
77

Kop 3akasa / Ordering code - 4B

KpblLLKa 3aaHss ¢ BUNKOI (CBapHas)
End plug with clevis (weldable)

47
w A 1 24
JM N[N

Kog 3akasa / Ordering code - 4F

KpeblLLka 3a0Hss ¢ pa3beMHON
MPOYLUMHON
End plug with build-up male clevis

Kog 3akasa / Ordering code - 7A

| & worosia



KOHCTPYKTUBHbIE UCMONHEHUA TMAOPOLUIMTUHAPOB MO CMOCOBY KPEMMEHUA

MOUNT TYPES

e

[apHup WapHup
Swivel Swivel

Kop 3akasa / Ordering code - 8A Kop 3akasa / Ordering code - 8B
OnaHel OnaHel
Flange Flange

Kog 3akasa / Ordering code - 9A Kog 3aka3sa / Ordering code - 9B



KOHCTPYKTUBHbIE UCMONHEHWUA rMAPOLMNUHAPOB NO NOABOAY PABOYEN XUAKOCTH

PORT TYPES

BoHka ¢ BHyTpeHHemn pe3bboi BoHKM ¢ BHYTpeHHeN pe3bboil
(B 0603HAYEHMM TMAPOLMAMHLPA pacnonoXeHbl B 30HE NEPEAHEN KPbILLKA
MOXeT He 0Bo3HavaTbCs, 3aaaeTcs no C MoABOAOM MacronpoBoaa
yMOM4aHuto) Female threaded port with feed pipe

Female threaded port

(may be omitted in the ordering code)

N

i /

‘ N

| AN

Kop 3akasa / Ordering code - 0 Kop 3akasa / Ordering code - 1
BoHKa ¢ YrnoBbIM LITYLIEPOM LLTyuep ¢ HapyxHol pe3bboit ®naHueBoe kpenneHne
C Hapy>kHOW pe3bboil Male threaded port Flange

Angular male threaded port

_'_
S & &

7 D

ks

|
¥ ‘
|
T

Kop 3akasa / Ordering code - 2 Kop 3akasa / Ordering code - 3 Kop 3akasa / Ordering code - 6

Mpumep 0603HaYeHNA ruapoLUnNUHAPA
Example of hydraulic cylinder marking

MC 100/40x400-20.1B1A.0C0A.700.R.M(001)

MopLwHeBoi ruapounnuHap cepum MC - gnameTp nopwHs 100 Mm - gnameTp wroka 40 M - xog nopiuHs 400 MM - HomMHanbHoe AaBnexune 20
MTla - cepbra C LUAPHWPHBIM NOALUMMHAKOM TiM 1B Ha Kopnyce W NpOyLUMHA C LWAaPHUPHBIM MOAWMMHMKOM TUM 1A Ha LTOKE - BOHKA C BHYTPEHHE
pe3bboii B M03. C €O CTOPOHbI AHa 1 GOHKa C BHYTpeHHen pe3bboil B Mo3. A CO CTOPOHBI LUTOKA - MEXLEHTPOBOE paccTosHne 700 MM - KpbILLKa
nepeaHsis Ha peabbe - NPoM3BOACTBEHHAs nnoLaaka MenuTononb - BapuaHT noctaskm 001.

MC series piston cylinder - piston diameter 100 mm - rod diameter 40 mm - piston stroke 400 mm - rated pressure 20 MPa - end with ball-joint type
1B on the body and ball-joint end type 1A on the rod - female threaded port in position C at the bottom side and the female threaded port in position A
at the rod side - center distance 700 mm - threaded head-bush - Melitopol production site - supply variant 001.

| S worosun ICHEN



KOHCTPYKLIMM NEPEAHUX KPbILWEK
HEAD-BUSHES TYPES

Kpblwka nepeaHAs Ha CTONOPHOM KorlbLie (B 0003Ha4eHUM He YKa3bIBaeTcs)
Head-bush with locking ring (omnitted in the ordering code)

b
4 L

2222720

Kpbiwka nepeaHss Ha pe3bbe (koA 3aka3a - R)
Threaded head-bush (ordering code - R)

Kpblwka nepeaHaAsa ¢ HakMgHoOW rankon (kop 3akasa - N)
Head-bush with locking nut (ordering code - N)

Kpbiwka nepeaHss ¢ conaHueBbIM KpenneHnem (Kog 3akasa - F)
Flange mounted head-bush (ordering code - F)

@ napoonn



HOMEHKNATYPHbIA Pl NOPLWHEBbIX TMAPOLMNINHAPOB
DOUBLE ACTING PISTON CYLINDERS

H H1
<> F F 4: 7
| s : S |
11T
Zr \ Yo
s 1 ' %55
/'y C
S
~< L >
gA oD @d S max(P=250 bar) L min (S=0) C min F H H1i
33 25 16 260 97 16 1/4"; M12x1,5; M14x1,5 43 15
40 30 16 250 108 18 1/4"; M12x1,5; M14x1,5 44 20
40 30 20 300 116 18 1/4"; M12x1,5; M14x1,5 52 20
40 32 16 250 108 18 1/4"; M12x1,5; M14x1,5 44 20
40 32 20 300 116 18 1/4"; M12x1,5; M14x1,5 52 20
50 40 20 260 133 20 1/4"; M14x1,5; M16x1,5 57 29
50 40 25 400 133 20 1/4"; M14x1,5; M16x1,5 57 29
60 50 25 300 134 20 3/8"; M16x1,5; M20x1,5 41 29
60 50 30 385 162 20 3/8"; M16x1,5; M20x1,5 63 34
73 63 30 360 153 22 3/8"; M16x1,5; M20x1,5 55 28
73 63 40 660 172 22 3/8"; M16x1,5; M20x1,5 71 30
89 75 30 400 162 22 3/8"; M16x1,5; M20x1,5 58 34
90 80 40 500 172 22 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 58 40
90 80 50 810 179 22 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 67 35
90 80 56 900 212 22 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 86 42
114 100 40 600 170 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 63 42
114 100 50 700 168 25 3/8" 1/2"; M20x1,5; M27x2; M27x1,5 55 40
114 100 56 820 175 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 61 32
114 100 60 935 178 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 65 30
114 100 63 1000 197 25 3/8", 1/2"; M20x1,5; M27x2; M27x1,5 77 40

| & worosia



HOMEHKIATYPHbIX PAL NOPLHEBbIX FTMAPOLUNWHAPOB
DOUBLE ACTING PISTON CYLINDERS

H H1
<> F F - : 7
| s S S |
11T
Zn k Yo
/'y f C
S
~< L >
gA oD @d S max(P=250 bar) L min (S=0) C min F H H1i
125 110 40 300 177 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 63 34
125 110 50 430 200 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 80 55
125 110 56 560 200 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 80 55
125 110 60 650 200 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 80 55
125 110 63 800 200 25 3/8"; 1/2"; M20x1,5; M27x2; M27x1,5 80 55
145 125 50 450 193 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 62 39
145 125 56 500 190 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 72 45
145 125 60 560 227 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 90 40
145 125 63 650 199 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 67 39
145 125 70 800 250 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 85 52
145 125 80 1100 201 30 1/2"; 314", M20x1,5; M27x2; M27x1,5 68 40
165 140 70 1100 244 30 1/2"; 314", M20x1,5; M27x2; M27x1,5 84 60
165 140 80 1200 269 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 105 50
190 160 70 800 285 30 1/2"; 3/4"; M20x1,5; M27x2; M27x1,5 112 57
190 160 80 1000 292 30 1/2"; 3/4", M20x1,5; M27x2; M27x1,5 119 57

@ npocin



HOMEHKIATYPHbIN PAL NIYHXEPHbIX FMAPOLMIIMHAPOB
SINGLE ACTING PLUNGER CYLINDERS

H
> ;F g 8 §
J! ~J = AMEAM
[
‘ - =
\‘ Vi) v
- S > = : ”]
- L !
gA gD gd S max (P=250 bar) L min (S=0) C min F H
50 40 25 300 120 25 1/4"; M14x1,5; M16x1,5 18
50 40 30 350 120 30 1/4"; M14x1,5; M16x1,5 30
60 50 40 500 132 30 3/8"; M16x1,5; M20x1,5 30
90 80 63 800 153 30 3/8"; M16x1,5; M20x1,5 26
105 86 80 1000 152 40 3/8";, M16x1,5; M20x1,5 25

| & worosia



KPbILIKW 3AOHUE
END PLUGS

Kpbiwka 3agHas

End plug
A i A I
S S S S
L
< L
Y Y Y Y
NIPR S1
-l S S
Koa / Code gA aT S S1 Koa / Code gA (1) S S1
0B.025.010.000.000.T 25 35 10 5 0B.080.016.000.000.T 80 92 16 6
0B.030.009.000.000.T 30 40 9 2 0B.100.016.000.000.T 100 115 16 6
0B.040.012.000.000.T 40 50 12 4 0B.110.022.000.000.T 110 125 22 8
0B.050.017.000.000.T 50 60 17 5 0B.125.024.000.000.T 125 145 24 8
0B.063.013.000.000.T 63 73 13 5 0B.140.028.000.000.T 140 165 28 8
0B.075.013.000.000.T 75 85 13 5 0B.160.035.000.000.T 160 190 35 10

Kpbiwka 3aaHss ¢ noaBoAOM pabouen KUAKOCTHU
End plug with inlet port

%

H

-

F

LF

b

| st
S > S
Koa / Code oA aT F LF H S S1
0A.063.M20.045.000.T 63 73 M20x1,5 19 18 45 5
0A.080.M20.052.000.T 80 90 M20x1,5 17 20 52 6
0A.100.M22.055.000.T 100 115 M22x1,5 18 18 55 8
0A.125.015.047.000.T 125 146 @15 - 19 47 8

@ novucan



KPbILIKW 3AAHUE
END PLUGS

Kpblwka 3agHAA ¢ otBepcTUeM (c/6e3 macneHku)
End plug with hole (with/without grease nipple)

" X
SIS \\ // S
)
< S
H L
Koa / Code gA oP aT L H S
2F.100.045.043.000.T 100 45 114 43 35

Kpblwka 3agHAsA ¢ cepbroi ¢ WWapHMPHbIM NOAWMNHMKOM (c/6e3 MacneHKu)
End plug with ball-joint end (with/without grease nipple)

>
IS]
o

oT
oA
R
=
|
77
S

- Z P

Koa / Code gA oP S Z R oT L Koa / Code gA oP S Z R oT L
1G.040.020.020.035.000.T 40 20 20 35 25 50 47 1G.100.055.050.065.000.T 100 55 50 65 60 120 85
1G.080.040.030.069.000.T 80 40 30 69 50 100 89 1G.100.070.060.080.000.T 100 70 60 80 75 150 85
1G.080.040.036.050.000.T 80 40 36 50 50 100 89 1G.125.040.036.069.000.T 125 40 36 69 50 140 84
1G.080.040.036.069.000.T 80 40 36 69 50 100 89 1G.125.050.042.060.000.T 125 50 42 60 55 140 84
1G.080.040.040.069.000.T 80 40 40 69 50 100 89 1G.125.050.050.069.000.T 125 50 50 69 55 140 84
1G.100.040.036.069.000.T 100 40 36 69 50 115 85 1G.125.060.065.080.000.T 125 60 65 80 80 146 105
1G.100.050.050.069.000.T 100 50 50 69 55 115 85 1G.125.070.060.080.000.T 125 70 60 80 75 140 84

| & worosia



KPbILLIKW 3AOHUE
END PLUGS

Kpblwka 3agHAsA ¢ cepbroi (c/6e3 MacneHku)
End plug with male clevis (with/without grease nipple)

Puc. /Fig. 1 Puc. /Fig. 2 Puc. /Fig. 3
R R R
% \a e
"\ \ JL \J/
N
L L L
,% <Q_P) (2] oP . _m <ﬂ_P) %)
s E({ 2 - gH ( g s E‘[JI @ 2,
Z . 4z
Koa/Code  wAgP S Z R gT L 'VMCYHOK Koa/Code @A oP S Z R o L 'MCYHOK
Figure Figure
2H.040.012.012.026.000.T 40 12 12 26 15 50 38 3 2H.080.040.036.069.000.T 80 40 36 69 47 95 89 2
2H.040.012.015.026.000.T 40 15 12 26 25 50 39 2 2H.080.040.040.069.000.T 80 40 40 69 47 95 89 2
2H.040.015.015.034.000.T 40 15 15 34 25 50 44 2 2H.080.045.030.069.000.T 80 45 30 69 47 95 89 2
2H.040.016.016.020.000.T 40 16 16 20 18 50 32 3 2H.080.045.036.069.000.T 80 45 36 69 47 95 89 2
2H.040.020.016.034.000.T 40 20 16 34 25 50 44 2 2H.080.040.040.069.000.T 80 45 40 69 47 95 89 2
2H.050.025.025.032.000.T 50 25 25 32 25 60 49 3 2H.080.050.030.069.000.T 80 50 30 69 47 95 89 2
2H.063.020.030.035.000.T 63 20 30 35 20 73 48 3 2H.080.050.036.069.000.T 80 50 36 69 47 95 89 2
2H.080.025.028.030.000.T 80 25 28 30 28 90 46 3 2H.080.050.040.069.000.T 80 50 40 69 47 95 89 2
2H.080.030.035.033.000.T 80 30 35 33 42 92 48 3 2H.100.030.060.058.000.T 100 30 60 58 30 118 77 3
2H.080.040.030.050.000.T 80 40 30 50 38 92 69 1 2H.100.040.035.069.000.T 100 40 35 69 45 115 85 3
2H.080.040.030.069.000.T 80 40 30 69 38 92 89 3 2H.100.050.050.071.000.T 100 50 50 71 55 115 85 3
2H.080.040.035.069.000.T 80 40 35 69 45 92 89 3 2H.125.072.063.060.000.T 125 72 63 60 60 146 85 3
2H.080.040.040.069.000.T 80 40 40 69 45 92 89 3
H.080.040.030.069.000.T 80 40 30 69 47 95 89 , 2H.125.072.070.062.000.T 125 72 70 62 65 146 88 3

@ nopucwn



KPbILLIKW 3AOHUE
END PLUGS

Kpblwka 3aaHAA ¢ WWapHMPHbIM NOAWMNHMKOM U NOABOAOM pabouei XaKocTm (c/6e3 MacneHkm)
End plug with ball-joint end and inlet port (with/without grease nipple)

Puc. / Fig. 1 Puc. /Fig. 2 Puc. /Fig. 3
Bapuanm / Version A Bapuaxm / Veersion B* Bapuanm / Version A Bapuaxm / Version B*

Puc. /Fig. 4
H H
F F F R
|
2
R F1
L. L
1 P M10
s z{ O« [y =
AT, s € ) - "
Y 2
Koa / Code gA o S Z R oT L F g m  FEETER
Figure
1H.050.025.027.030.G38.000T 50 25 27 30 34 60 71 G3BA 27 37 1
1H.063.030.028.036.G38.000T 63 30 28 36 39 73 72 G3BA 26 40 2
1H.063.025.025.051.010000T 63 25 25 51 32 73 83  g10 22 - 4
1H.080.030.028.038M20000T 80 30 28 38 37 95 62 M20x15 35 - : 4
1H.080.040.040.045M27.000T 80 40 40 45 47 92 88  M27x2 41 - KIR 6
1H.110.050.050.085.M27.000T 110 50 50 85 63 127 123 M27x2 38 - 3
1H.125.060.065.095.020.000T 125 60 65 95 73 146 125 020 57 - 5
1H.140.070.068.065.017.000T 140 70 _ 68 65 84 168 137  o17 59 - 5

* BapuaHT ¢ 60K0BbIM NOABOAOM.

*Vlersion with side inlet.

| & worosia



KPbILLIKW 3AOHUE
END PLUGS

Kpblwka 3agHAsA ¢ cepbroit U NogBoAoM paboyen XnaKocTy (c/6e3 MacneHkm)
End plug with male clevis and inlet port (with/without grease nipple)

Puc. / Fig. 1 Puc. /Fig. 2 Puc. /Fig. 3
Bapua+m / Version A BapuaHm / Version B* BapuaHm / Version A BapuaHm / Version B*
H F
T 5 T
70 70 >
~ ~ 7 4
L
4—2 P @P
‘ |
s §1 (O) ) % s E{ 57 2
] gp Puc. / Fig. 4 Puc. /Fig. 5 | ]
. " F
o5 = 6l
7 72
L L
AT oP I~ oP '
5 gl 1 o s iéi o] Je
YL 7 i 7
Koa / Code oA e S Z R oT L F H ML FMCYHOK
Figure

2J.050.025.027.030.G38.000.T 50 25 27 30 34 60 71 G3/8-A 27 37 1
2J.050.030.027.030.G38.000.T 50 30 27 30 34 60 71 G3/8-A 27 37 1
2J.050.035.027.030.G38.000.T 50 35 27 30 34 60 71 G3/8-A 27 37 1
2J.063.030.028.036.G38.000.T 63 30 28 36 39 73 72 G3/8-A 26 40 2
2J.063.035.028.036.G38.000.T 63 35 28 36 39 73 72 G3/8-A 26 40 2
2J.063.040.028.036.G38.000.T 63 40 28 36 39 73 72 G3/8-A 26 40 2
2J.080.040.040.037.M20.000.T 80 40 40 37 36 92 81 M20x1,5 37 3
2J.100.050.048.065.M24.000.T 100 50 48 65 45 114 102 M24x1,5 52 4
2J.100.060.048.065.M24.000.T 100 60 48 65 45 114 102 M24x1,5 52 4
2J.110.050.050.085.M27.000.T 110 50 50 85 63 127 123 M27x2 38 5
2J.110.060.050.085.M27.000.T 110 60 50 85 63 127 123 M27x2 38 5
2J.110.070.050.085.M27.000.T 110 70 50 85 63 127 123 M27x2 38 5

* BapuaHT ¢ 60K0BbIM NOABOAOM.

*Version with side inlet.

y——



KPbILLIKW 3AOHUE
END PLUGS

Kpblwka 3aaHAA ¢ pa3beMHOW NPOYLIMHON
End plug with build-up male clevis

a7
oA
@
N4
I
S

Koa / Code

gA oP aT S YA F H

7A.125.072.070.046.013.000.T

125 72 146 70 46 213 36

80 132

| & worosia



KPbILLIKW 3AOHUE
END PLUGS

Kpblwka 3agHAsA ¢ BUNKOM

End plug with clevis
Puc. /Fig. 1 Puc. / Fig. 2 Puc. / Fig. 3
% ) ) el Wi O =
& /| @

N N JL! \J
R 1~
L d1z R = R H

oP — gP
[~
7417
5 S 1 | m SIS m¢ m
& NEEN|
; [T Z
L
Koa / Code oA oP R S B yA H B1 L oT P".cyHOK
Figure
4E.100.025.028.054.000.T 100 25 30 28 58 54 - - 77 118 1
4E.100.025.028.054.001.T 100 25 30 28 70 54 - - 77 118 1
4E.100.030.030.054.000.T 100 30 30 28 70 54 - - 77 118 1
4E.100.035.037.050.000.T 100 35 37 28 68 50 - - 76 115 2
4F.100.032.037.062.000.T 100 32 32 37 67 62 - - 87 115 3
4F.100.040.030.050.000.T 100 40 40 30 80 50 - - 69 115 3
4F.110.035.028.045.000.T 110 35 - 28 68 45 30 80 71 125 3
4F.125.025.028.040.000.T 125 25 32 28 80 40 - - 77 146 3

@ noptcan



KPEMEXHbIE JIEMEHTbI
ENDS

lMpoywuHa ¢ WapHUPHbLIM NOAWKWNHUKOM (c/6e3 MacneHkKM)
Ball-joint end (with/without grease nipple)

oP

-

OuameTp nopiuHa pekoMeHayembin  [nameTp WTOKa peKOMeHAyeMbIN

Koa/Code Bore diameter recommended Rod diameter recommended oP oD <
1A.020.020.050.000.RT 40 - 50 20 - 25 20 5 20
1A.025.020.064.000.RT 25 64 20
1A.025.024.064.000.RT 40-63 25-40 25 64 24
1A.030.030.076.000.RT 50 - 80 30 - 50 30 76 30
1A.035.032.084.000.RT 50 - 80 30 - 50 3% 84 32
1A.040.030.095.000.RT 40 95 30
1A.040.036.095.000.RT 40 95 36
1A.040.040.095.000.RT 80100 40-56 40 95 40
1A.040.045.095.000.RT 40 95 45
1A.045.050.120.000.RT 80 - 100 50 - 63 45 120 50
1A.050.045.120.000.RT 50 120 45
1A.050.050.120.000.RT 100-125 50-63 50 120 50
1A.055.050.120.000.RT 100 - 125 56 - 63 55 120 50
1A.060.055.150.000.RT 60 150 55
1A.060.060.150.000.RT 100 - 160 60 - 80 60 150 60
1A.060.065.150.000.RT 60 150 65
1A.070.060.150.000.RT 100 - 160 60 - 80 70 150 60
1A.080.088.180.000.RT 125 - 160 63 - 80 80 180 88

| & worosia



KPEMEXHbIE JIEMEHTbI
ENDS

MpoywuHa (c/6e3 macneHku)
Bush (with/without grease nipple)

)

\\

-/

/

oD

|
%
|

oP

[OuameTp nopluHa pekoMmeHayembin  [lnameTp WTOKa peKOMeHAyeMbIN

Koa/Code Bore diameter recommended Rod diameter recommended ) oD s
2C.020.016.050.000.RT 20 50 16
2C.020.020.050.000.RT 40-50 25-30 20 50 20
2C.025.020.050.000.RT 25 50 20
2C.025.025.050.000.RT 40-100 25-56 25 50 25
2C.030.030.064.000.RT 30 64 30
2C.030.035.065.000.RT 50100 25-56 30 65 35
2C.040.030.075.000.RT 40 75 30
2C.040.030.095.000.RT 40 95 30
2C.040.035.095.000.RT 63-125 30-63 40 95 35
2C.040.040.095.000.RT 40 95 40
2C.050.050.110.000.RT 50 10 50
2C.050.060.110.000.RT 100-125 5-63 5 110 60
2C.060.060.110.000.RT 100 - 125 56 - 63 60 110 60
2C.080.080.150.000.RT 110 - 125 56 - 80 80 150 80

@ nopucan



KPEMEXHbIE JIEMEHTbI
ENDS

MpoywuHa (c/6e3 macneHku)
Bush (with/without grease nipple)

[lunameTp nopluHa pekomeHayembin  [lnameTp WTOKa peKOMeHAyeMbIN

Koa/Code Bore diameter recommended Rod diameter recommended aP ae =
2A.020.030.040.000.RT 20 40 30
2A.020.060.040.000.RT 40-50 25-30 20 40 60
2A.025.026.060.000.RT 25 60 26
2A.025.055.060.000.RT 40-100 25-56 25 60 55
2A.035.066.060.000.RT 3 60 66
2A.035.096.060.000.RT 80-100 30-60 3 60 96
2A.040.040.065.000.RT 40 65 40
2A.040.050.065.000.RT 40 65 50
2A.040.078.065.000.RT 63-125 30-63 40 65 78
2A.040.070.070.000.RT 40 70 70
2A.045.070.070.000.RT 45 70 70
2A.045.100.070.000.RT 80-125 40-63 45 70 100

| & worosia



KPEMEXHbIE JIEMEHTbI
ENDS

MpoywuHa
Bush

A
<
IS}
Y
A
|_
]
Y
- z >
Kog / Code oP R S z L oT gA
1C.040.030.074.000.RT 40 37 30 33 57 40 28
MpoywuHa
Bush
Puc. / Fig. 1 Puc. /Fig. 2
A
J— e
' I
_LF | y
- L >
w - oP > - oP
) i \
R - \Lr% : i %] S e— ‘ %]
w 1 Y y y

* WaroTaBnuBatoTcs ¢ niobbiMy pa3mepamm no 3akasy notpebutens.
** BO3MOXXHbI BapUaHTbI NPOYLLMH C/6€3 LapHUPHLIM MOALUMIHUKOM.
*** Bo3MOXHbI BapuaHTbl ¢/6e3 MacrneHKu.

* Manufactured with any parameters according to customers requirements.
** Available with/without ball-joint.
*** Available with/without grease nipple.

@ nopucan



KPEMEXHbIE JIEMEHTbI
ENDS

Cepbra € WapHUPHbIM NOALWMNMNHUKOM
End with ball-joint

[nameTp nopLiHA peKoMeHayeMbIn

Kog/Code Bore diameter recommended el R S 2
1B.015.010.031.000.RT 40 15 20 10 31
1B.020.013.038.000.RT 40-63 20 25 13 38
1B.020.020.035.000.RT 20 25 20 35
1B.025.024.035.000.RT 50-80 25 36 24 35
1B.030.028.035.000.RT 50 - 80 30 36 28 35
1B.040.036.069.000.RT 80- 100 40 47,5 36 69
1B.040.036.057.000.RT 40 475 36 57
1B.045.050.069.000.RT 80 - 100 45 55 50 69
1B.050.050.060.000.RT 100 - 125 50 55 50 60
1B.050.040.088.000.RT 50 57,5 40 88
1B.060.060.080.000.RT 195 - 180 60 67,5 60 80
1B.060.055.090.000.RT 60 75 55 90
1B.070.060.080.000.RT 195 - 180 70 75 60 80
1B.070.060.090.000.RT 70 75 60 90
1B.080.088.096.000.RT 125 - 160 80 90 88 96

| & worosia



KPEMEXHbIE 3JIEMEHTbI
ENDS

Cepbra ¢ WapHUPHbLIM NOALWMNNHUKOM
End with ball-joint

[unameTp nopLiHA peKoMeHAyeMbIn

Kog/Code Bore diameter recommended Ex R S 2
2D.020.020.035.000.RT 40-63 20 20 20 35
2D.040.030.050.000.RT 40 40 30 50
2D.040.065.075.000.RT 80- 125 40 40 65 75
2D.040.040.050.000.RT 40 45 40 50
2D.040.040.115.000.RT 40 47,5 40 115
2D.050.050.060.000.RT 50 55 50 60
2D.050.060.060.000.RT 100 - 125 50 55 60 60
2D.050.035.055.000.RT 50 62,5 35 55
2D.060.055.070.000.RT 100 - 140 60 55 55 70
2D.060.070.062.000.RT 60 62,5 70 62
2D.080.080.090.000.RT 125 - 140 80 75 80 90

@ noptcan



KPENEXHbIE 3NIEMEHTbI
ENDS

Bunka
Clevis
Puc. /Fig. 1 Puc. / Fig. 2 Puc. / Fig. 3 Puc. / Fig. 4
. M10
A
guns \
gI C m \ |Fn' w f \ 0 — ,_,_k C \\ =
Y
TR ] 2 NN R
L Y
= LF oP LF LF
L %P P P
X ZREZE, P N s N
— ; A A A
o M 1 n] m me e %) c/)vm
. Xﬁ % /] Y ! NEEN Y
C 2 L]
< Z - z =4H‘ YA z
- L > - L - < L >
Kop / Code ® R S B Bl Z L gA H oT F LF FUCYHOK
Figure
4A.025.028.054.000.RT 25 26 28 65 64 54 74 40 1
4A.025.028.054.001.RT 25 26 28 70 64 54 74 40 - 1
4A.025.028.054.002.RT 25 26 28 76 64 54 74 40 - - - 1
4A.030.028.054.000.RT 30 26 28 76 64 54 74 40 - - - - 1
4D.030.028.040.000.RT 30 26 28 70 - 40 60 - - 80 M27 15 4
4D.032.037.060.000.RT 32 32 37 67 64 60 90 - - 84 M32 28 4
4D.040.030.050.000.RT 40 40 30 80 - 50 73 - - 90 M27 23 4
4B.050.035.050.000.RT 50 - 36 80 90 55 90 - 40 - M27 19 2
4D.060.056.070.000.RT 60 55 5% 100 100 70 95 - - 100 M27 25 4
4D.060.076.088.000.RT 60 65 7% 124 88 128 - - M42 40 3
4D.070.076.095.000.RT 70 65 7% 128 95 140 - - M48 45 3

| & worosia



KPEMEXHbIE 3JIEMEHTbI
ENDS

Landbi
Trunnion
—
| o
A
o |
A | ]
k | I
) ) A |l -
y A [ 10
\ |
< 1 | |
IS
Y
_ _oP
- L Y
* WsroTaBnuBatoTcs ¢ niobbiMy pasmepamm no 3akasy notpeburens.
* Manufactured with any parameters according to customers requirements.
®naHubI
Flange
S
Y Ly |
1S I
A oA 1
A =
BEIE 2F
< O
e,
N
- T -

* MarotaBnuBaroTcst ¢ niobbiMu pasmepamim no 3akasy ﬂOTpeﬁl/ITeJ'Iﬂ.

* Manufactured with any parameters according to customers requirements.

@ noptcan



KPEMEXHbIE JIEMEHTbI
ENDS

CneunanbHble BapMaHTbl MCMOSTHEHUA WITOKA
Special rod end variants

LUiTok c oTBepcTMEM
Rod end with hole

X
LLITOK ¢ NibICKaMy 1 OTBEPCTHEM — ey S @

Rod end with flat spots and hole

M
7

oP

z L

ad .
|
XL
F
ad .
1
<P

LTok ¢ pe3bboii >
Threaded rod end Y

LF

Y

* M3rotaBnuBaroTcst ¢ Niobbimu pasmepamu no 3akasy ﬂOTpGGMTeJ'Iﬂ.

* Manufactured with any parameters according to customers requirements.

| & worosia



noaBoabl PABOYEN XNUOKOCTU
PORT TYPES

BoHka ¢ BHyTpeHHeNn pe3booin

Threaded port
_F
i \
|
oD
Kop / Code F @D L
0.G18.014.020.000 G1/8 20 14
0.G14.016.022.000 G1/4 22 16
0.G38.017.026.000 G3/8 26 17
0.G12.018.030.000 G1/2 30 18
0.G34.020.038.000 G3/4 38 20
0.G10.025.045.000 G1 45 25
Kop / Code F @D L
0.M14.019.030.000 M14x1,5 30 19
0.M16.019.030.000 M16x1,5 30 19
0.M18.022.030.000 M18x1,5 30 22
0.M20.020.030.000 M20x1,5 30 20
0.M20.022.030.000 M20x1,5 30 22
0.M22.020.030.000 M22x1,5 30 20
0.M24.025.034.000 M24x1,5 34 25
0.M27.025.035.000 M27x2,0 35 25

@ nopucan



noaBoabl PABOYEN XNUOKOCTU
PORT TYPES

LUTyuep ¢ HapyxHOM pe3bbon
Male threaded port

&|

Koa / Code F LF L od
3.M14.020.005.000 M14x1,5 12 20 5
3.M16.020.006.000 M16x1,5 13 20 6
3.M16.025.008.000 M20x1,5 13 25 10
3.M18.026.008.000 M20x1,5 13 22 12
3.M20.025.010.000 M16x1,5 15 25 8
3.M20.022.012.000 M18x1,5 16 26 8
3.M22.020.010.000 M22x1,5 14 20 10
3.M26.028.015.000 M26x1,5 12 28 15

BoHka ¢ yrnoBbIM WITYLIEPOM 1 HapYXHOI pe3b6on
Angular male threaded port

Ay \ i
| W ‘
y j Y
| ad <
@D
Koa / Code F LF L H @D ad
2.M18.045.014.000 M18x1,5 12 45 32 29 14
2.M20.045.014.000 M20x1,5 12 45 32 29 14
2.M22.045.014.000 M22x1,5 12 45 32 29 14
2.M27.055.015.000 M27x2,0 16 55 35 30 15

| & worosia



noaBoabl PABOYEN XUOKOCTH
PORT TYPES

®naHueBoe KpenseHune

Flange
F‘
‘ ¥
1 =
1 X
i !
© |0
)12
ﬁ}i G
N~ M
- N >
Kop / Code F M LM N N1
6.024.M10.262.524.000 @24 M10 17 26,2 52,4
6.020.M10.238.508.000 220 M10 17 238 50,8
6.022.M12.278.572.000 @22 M12 17 27,8 57,2

BoHka ¢ BHyTpeHHeln pe3bboi M NogBOAOM MacnonpoBoja

Port with feed pipe
Puc. / Fig. 1 Puc. / Fig. 2*
LF
& T F
/ Yo -
~ 5 ! [S]
— 1 1
- - LB NI § -
! ‘ Y
1
o T oD T
S} - oD . -
Koa / Code F LF L H aD o Pu_cyHox
Figure
6.M20.012.057.036.000 M20x1,5 14 57 45 36 12 1

* MarotaBnuBaroTcst ¢ Niobbimu pasmepamum no 3akasy ﬂOTpGGMTeﬂH.

* Manufactured with any parameters according to customers requirements.

@ noptcan



CMELUWANBHBIE rMAPOLUNUHAPBLI U AKCECCYAPDI
SPECIAL HYDRAULIC CYLINDERS AND ACCESSORIES

MmppounnuHApb! Ans 060pPOTHLIX NNYroB
Hydraulic cilinders for reversible plows

N

gd

S

-
S

L=5+275

R47,5

M20x1,5

y 2 0rB. (ports)

[OuameTp nopuHa D, MM
Piston diameter D, mm

[OunameTp wroka d, mm
Rod diameter d, mm

Pa3smep H, mm
Size H, mm

A

[aBneHve HomuHanbHoe, MlMa
Rated pressure, bar

[aBneHne makcumanbHoe, MlMa
Maximal pressure, bar

80 100
_Bl|A
40 40 =
885 985 < XTI w
16 (160) O
20 (200)

[unana3oH perynupoBKu knanaHa pesepca, Ma
Plough overturning valve pressure setting range, MPa (bar)

5 - 25 (50 - 250)

[aBneHue nepekntoyeHus (3aBoackas HacTpoiika), MMa (6ap)
Switchover pressure (factory setting), MPa (bar)

14 (140)

MoTok pabouyen xmakocTu (pekomeHayembIn), N/MUH

Flow (recommended), Ipm

30...50*

* Wcnonb3oBaHue rmapounnnuHgpa Ha noTokax 6onee 50 n/muH HeobxoayUMo cornacoBath ¢ nponssognTenem.

* Using the hydraulic cylinder on a flow of 50 Ipm agreed with the manufacturer.

| & worosia



CMELUWANBHBIE rMAPOLUNUHAPLI U AKCECCYAPDI
SPECIAL HYDRAULIC CYLINDERS AND ACCESSORIES

MapouunuHApbI NocneaoBaTeNIbHOrO NOAKYEHUSA
Re-phasing cylinders

N

-
()

N

[
N

>

| S —
gulling |

* Manufactured with parameters according to customers requirements.

* M3rotaBnuBaroTCs No 3aKasy I'IOTpe6VITeJ'IF|.

MexaHnueckuit orpaHMunUTENb X0A
Mechanical stroke limiter

T
5

@ napoonn



YKA3AHUA NO KCMNYATALWUK
TERMS OF USE

1. OKennyatauus rMopoLUNMHAPOB [OMKHA MPON3BOAUTLCS B COOTBETCTBUN C « TEXHUYECKUM OMMCAHWEM U UHCTPYKLME N0 SKCTyaTaLyumy
W3[Enus, Ha KOTOpOe YCTAHOBNEH rapoumnuHap. Mepen yCTaHOBKOM MMAPOUMAMHADP HEOBXOAMMO PAacKOHCEPBMPOBATb, @ ero NONoCTH 3aNOHNTL
paboyei XUOKOCTHO.

2. [pocTpaHCTBEHHOE NONOXeHMe rnapouunuHapa - noboe.

3. ﬂpM MOHTaXe rmgpounnmHapa Heobxoaumo obecneunTb cobnoaenmne HanpaslieHna [encTBns yCunuma € OCbo LITOKa Ha BCEM MyTW €ro
OBWXEHUA, a TaKKe HAAEXKHOCTb 3aKpenneHna rmagpoumMnnHgpa. Ecrm npu pa60Te noa Harpy3|<0171 OCb rmpgpoumnuHapa MeHAET CBOE MNOJOXKEHNE, TO
BokoBas Harpyska He OOJKHa npeBbIlWaTtb 10% ot ycunua Ha LWToKe ruapouunuegpa.

4. MpucoeauHnTeNbHas apMaTypa rMapOLMIMHAPOB A0MKHA 06ecneymBaTh NONHYH repMETUYHOCTD.

5. TvapoLmMnHApPLI LOMKHbI 3KCMTyaTUPOBAaTLCS B KMIMMATUYECKUX YCMOBWSIX, COOTBETCTBYIOLLMX KIMMATUYECKOMY UCTIOMHEHWIO Y3M0B. Temne-
paTypa okpyxatoLein cpegbl o1 MuHyc 40°C go nntoc 60°C.

6. Mpw gnutensHoit paboTe TemnepaTtypa paboyelt KUGKOCTH He AormkHa npeBbiwath 80°C.

7. [inst 6e30Tka3HoN paboTbl rMapoLunmHapa Heobxoguma unbTpaums Macna (C TOHKOCTbIO He 6onee 25 MkM), YTO JOCTUraeTCs Npy yCTaHOBKe
unbTpa.

YwnctoTa paboyeit KnakocTu, Npu KOTOpOit JoNyckaeTes aKkenyartauus nagenus He rpybee -/21/19 no 1ISO 4406.

B kavectBe pabouyeit X1gKoCcT NPUMEHSTL Mtobble MUHEpPanbHbIE Macna, MPUMEHsIEMble ANs TMAPOCUCTEM MaLUMH C KMHEMATUYECKON BA3KO-
CTbto, npu Temnepatype 50°C, 20-2000 c/Cr.

8. Mpu oTCTynneHu ot TpeboBaHM TEXHNYECKUX YCTIOBUI PECYPC MUOPOLMAVHAPA CHKAETCS.

1. Hydraulic cylinders should be used in accordance with «Technical specification and usage instructions» of the equipment where the cylinder
is applied.
2. Any position of the hydraulic cylinder is allowed

3. When mounting a cylinder ensure the same direction of load and axle and check the cylinder fixing. If the axle changes its direction, the lateral
load should not exceed 10% of rod loads.

4. Connection ports cylinders shall ensure complete sealing.
5. Cylinders should be used in climatic conditions, according to climatic version of this model . Outside temperature from -40°C to + 60°C.
6. At continuous operation fluid temperature must not exceed 80°C.

7. For smooth operation of hydraulic cylinder is required oil filtration (with filtration to 25 microns), which is achieved by installing a filter.
The working fluid purity grade not less than - / 21/19 to ISO 4406.
As working fluid may be used any mineral oils used for hydraulic machines with kinematic viscosity at 50°C, with 20-2000 / St.

8. If the requirements are not observed the cylinder lifetime is reduced.

| & worosia



FTAPAHTUMHBIE OBA3ATENBLCTBA

WARRANTY TERMS

1. aroToBuTEND rapaHTMpyeT COOTBETCTBNE MTMAPOLMITUHAPOB TpeGOBaHMﬂM TEXHNYECKNX YCJ'IOBVIFI npu cobnoaeHnn yCJ'IOBMVI TpaHCnopTnpo-
BaHWA, XpaHEHUA, MOHTaXa 1 3KCniyaTaunu.

2. [apaHTUIHbINA CPOK JKCnyaTaLyv ruapoLUIMHAPOB, NOCTABASEMbIX Ha KOMMNEKTALMI0, JOMKEH OblTb paBeH rapaHTUIHOMY CPOKy 3KCnnya-
TaLWM 13genus, Ha KOTOPOE OHU YCTaHOBMEHbI. Havarno rapaHTUHOMO Cpoka UCHMCISETCS C AaTbl NPOAAXW u3nenus, Ho He Bonee 12 mecsLes ¢
AaTbl U3roTOBNEHWUS MUAPOLMINHAPA.

3. [apaHTUiiHbIA CPOK SKCMITyaTaLmmn MMapOoLMIMHAPOB, MOCTABISAEMbIX B 3an4acTy, CocTaBnseT 12 MecsLeB C gaTtbl Npoaaw, HO He Gonee 18
MeCsILEB C AaTbl M3rOTOBMEHUS TAPOLMIMHAPOB.

4. TapaHTuM He pacnpoCTPaHSIoTCA Ha MMAPOLMIMHAPLI:

- HE YCTaHOBMEHHbIE Ha 13aenue B Te4eHne 6 MecaLeB ¢ AaThl N3roTOBNEHNS;

- YCTAHOBMEHHbIE B U3LENWSs, Ha KOTOPbIE He COrnacoBaHa Ux NPUMEHSEMOCTb;

- noagepriunecs pasbopke y notpedutens;

- HE UMetoLL /e NacnopTa C 3anonHEHHbIM rapaHTUHBIM TanoHoM, MapkupoBsku 1 kneima OTK o npuemke.

1. The manufacturer guarantees conformity of all the technical specification of the cylinder if all the requirements on transportation, storage,
installation and operation are observed.

2. Warranty term of hydraulic cylinders for OEMs should be the same as warranty term of the equipment where it is installed.

3. Warranty term of hydraulic cylinders is 12 months since the date of sale, but no more than 18 months since the date of manufacturing.

4. Guarantees do not apply to cylinders:

- which were not mounted on the machine within 6 months since the date of manufacturing;

- mounted on the machine, if the applicability is not agreed;

- which were disassembled by the consumer;

- not having a passport with warranty certificate, labeling and stamp of acceptance of department.

@ nopucan






Hydrosila
Ukraine, 25006, Kirovograd
Phone: +38 0522 35-83-37; Fax: +38 0522 35-83-47
e-mail: opg@kpk.net.ua
www.hydrosila.com

[mapocuna
YKkpauHa, Kuposorpag, 25006
Ten.: +38 0522 35-83-45; pakc: +38 0522 35-83-47
e-mail: opg@kpk.net.ua
www.hydrosila.com

042016-03




